BEHEFR - EXFTOHENARE - REKRBRO A A—D

&Hl2

<ERZA> BRER X5 G KE—VEANYZFITHDESITT DT IL—THFL. 5L TR
B-RAKRBRESRTE,

EHOE—VE N HRHOE—IUEH ¥ A~GDT7DODT IL—ThE
AT JL—T 1000kw 400kw T.FHE-9EFH1000kw,
BY JL—J 1000kw 400kw ARBE-9EHA00kwE{RE
GYIL—7 1000kw 400kw
1 WBARBDAA—D
<IFPK> (BARL  kw)
H X 7K x & + =]
AT IL—T 1000] 1000] 1000] 1000] 1000 400 400
BYIL—T 1000| 1000] 1000/ 1000] 1000 400 400
CHIL—T 1000 1000] 1000/ 1000] 1000 400 400
DZIL—T 1000 1000/ 1000/ 1000] 1000 400 400
EFIL—T 1000/ 1000] 1000/ 1000] 1000 400 400
FZIL—T 1000/ 1000/ 1000/ 1000] 1000 400 400
v 1000 1000] 1000] 1000] 1000 400 400
E—J%7h 7000/ 7000] 7000] 7000 7000] 2800] 2800
E—4EH%7000kwhH 5H5800kw
A17% D
< KBLIhE>
H X 7K 7N % + =]
ATIL—T 1000[ 1000] 1000] 1000] 1000 400 400
BYIL—T 1000 1000] 1000] 1000 400 400/ 1000
cHIL—T 1000[ 1000] 1000 400 400, 1000[ 1000
DY IL—T 1000/ 1000 400 400 1000f 1000] 1000
EFIL—T 1000 400 400/ 1000] 1000/ 1000[ 1000
FIL—7 400 400 1000] 1000] 1000] 1000] 1000
=i 400 1000] 1000/ 1000[ 1000] 1000 400
E—2%8A 5800/ 5800] 5800/ 5800/ 5800/ 5800/ 5800
2 HBERAKBROA A=
<IFYK> (BARL  kw)
7 B &= 4%58 SAE1E |5H2H *p#RKk FE 38 F£458
AT IL—T 1000 1000 400 1000 1000
BYIL—T 1000 1000 400 1000 1000
cHIL—7 1000 1000 400 1000 1000
DY IL—T 1000 1000 400 1000 1000
EZIL—T 1000 1000 400 1000 1000
F7I)IL—7 1000 1000 400 1000 1000
=i 1000 1000 400 1000 1000
E—2%A 7000 7000 2800 7000 7000
EHDE—4E H%7000kwh 55800~ 6400kw
—_ = A17~8%DHNEI
<twEEHKRER>
7 H & #%E S8HE1:A F2E E38 F£458
AT IV—T 400 1000 1000 1000 1000
BYIL—T 400 1000 1000 1000 1000
cHIL—7 1000 400 1000 1000 1000
DY IL—T 1000 1000 400 1000 1000
EZIL—T 1000 1000 400 400 1000
FFIL—7 1000 1000 1000 400 1000
=i 1000 1000 1000 1000 400
E—0%%h 5800 6400 5800 5800 6400




